		Compuls	ory Elements	S		Level:	6
Со	mpetition:		ld Championships 2023 (F			•	
Sk	ater:	Dacia Loconte	Sex:	Lady			TM
Ag	e January 1st:	16	Age category:	Junior			\supset
Ċ	ub:	Broadmoor	Country:	USA		INCLU	SIVE
Pa	ralympic Class:	Physical	Facilitation:	Independent		SKAT	ING
Su	pport needed:	Off-ice				JIMI	1110
				IJS Base	Technical	Grade of Execution	Mark awarded
FI	ements		For Officia	al Use Only			
_	vel 6				T OF OTHIOR	ar coc omy	
1.	Forward Double Three description and diagram	•	ndbook for detailed	0.5	0.167	0	0.000
	Backward Double Three		handbook for detailed	0.0	0.107		0.000
2.	description and diagram	n.		0.5	0.167	5	0.835
3.	Outside Bracket Step. and diagram.	See Technical handboo	ok for detailed description	0.5	0.167	4.9	0.818
4.	Inside Bracket Step. Se and diagram.	ee Technical handbook	for detailed description	0.5	0.167	4.5	0.752
Ta	tal Technical Elemen	to.		Total judges se	ore for elements	•	2.405
Total Technical Elements				Factor	WPI	WPI incl age	2.405
	pairment Compensat	ion (5 x WPI)		5	17.00%	17.00%	0.850
De	ductions						0.00
			T	otal Score	e for Perf	ormance	3.26

	Compulso	ory Elements	S		Level:	6		
Competition:	Inclusive Skating World	Championships 2023 (F	lybrid Virtual)		•			
Skater:	Anna Johnson	Sex:	Lady		١	TM		
Age January 1st:	26	Age category:	Senior					
Club:		Country:	USA		INCLU	EIVE		
Paralympic Class:	Physical	Facilitation:	Independent		SKAT	ING		
Support needed:	None				JIMI	1110		
			IJS Base	Technical	Grade of Execution	Mark awarded		
Elements					For Official Use Only			
Level 6								
14	Step. See Technical hand	dbook for detailed						
aescription and diagrar			0.5	0.167	4.8	0.802		
10	e Step. See Technical ha	nabook for detailed	0.5	0.407		0.004		
aescription and diagrar	n. See Technical handbook	for detailed description	0.5	0.167	2	0.334		
and diagram.	See recillical handbook	ioi detalled description	0.5	0.167	0	0.000		
	ee Technical handbook fo	or detailed description	0.0	0.107		0.000		
4. and diagram.		<u> </u>	0.5	0.167	0	0.000		
Total Technical Elemen	ts		Total judges so	ore for elements	S	1.136		
			Factor	WPI	WPI incl age			
Impairment Compensat	ion (5 x WPI)		5	10.00%	10.00%	0.500		
Deductions	,					0.00		
		T	otal Scor	e for Perf	ormance	1.64		

	Compuls	ory Elemen	ıts Figure	s			ļ	Level:	7	TM TM					
Competition:	Inclusive Skating World Cha										١				
Skater:	Cameron Sargent	Sex:	Gentleman		Paralympi	c Class:	Intellect	ual				8			
Age January 1st:	21	Age category:	Senior		Facilitation		Indepen	dent			CVATI	NG			
Club:		Country:	England		Support ne	eded:	Off-ice				SKAII	NO			
		•				Technical				Symmetry	Cleanness of	Ease of			
			Chose 3 figures			value				and	edge and	movement	i		
			to be performed	IJS Base	Technical	chosen	Circle		Tracing	Geometry	tums	and Posture	Mark awarded		
Elements Permit	ted		Enter Y					Fo	r Official	Use Only					
Level 7, choose 3			Skater to fill in												
 Forward Outside 	Eight, repeat 3 times on eac	h foot	Y	3	1	1	3.5	5.2	5	5	4.8	5.3	28.80		
2. Forward Inside E	ight, repeat 3 times on each	foot	Υ	3	1	1	3.7	5.1	4.8	5	4.8	5.2	28.60		
3. Back Outside Eig	ght		Υ	4.5	1.5	1.5	3.2	4.9	4.6	3.4	3.4	4.6	36.15		
4. Back Inside Eigh	nt			4.5	1.5	0							0.00		
5. Forward Change	of Edge, (Right Foot or Left))		4.5	1.5	0							0.00		
	ge of Edge(Right Foot or Left			6	2	0							0.00		
7. Forward One For	ot Eight (Right Foot or Left)			6	2	0							0.00		
	Foot Eight (Right Foot or Left)			7.5	2.5	0							0.00		
	Three to Back Inside Three	(Right Foot or Left)		6		0							0.00		
	hree to Back Outside Three			6	2	0							0.00		
Forward Outside	Change of Edge and FI Three			0		0							0.50		
 Change of Edge 	and BI Three (Right Foot or	Left)		9	3	0					l		0.00		
Forward Inside C	Change of Edge and FO Thre	e to Back Inside													
Change of Edge	and BO Three (Right Foot o			9	3	0							0.00		
	le Change of Edge and BI Th			45-		_									
Outside Change	of Edge and FI Three (Right			10.5	3.5	0							0.000		
	Change of Edge and BO Th			10.5	3.5	0							0.00		
	and FO Three (Right Foot or	r Leit)													
15. Forward Outside				10.5	3.5	0							0.00		
16. Forward Inside D				10.5	3.5	0							0.00		
17. Backward Outsid				12	4	0							0.00		
18. Backward Inside	Double threes	T Dauble Three to		12	4	0							0.00		
	utside Change of Edge and f of Edge and FO Double Three			12	4	0							0.00		
	tside Change of Edge and Fl			12	4	U							0.00		
	inge of Edge and FO Double			12	4	0							0.000		
Right Backward	Outside Change of Edge and				7								0.00		
	of Edge and BO Double Thre			15	5	0							0.000		
	outside Change of Edge and														
Right BI Change	of Edge and BO DoubleThre	ee		15	5	0							0.000		
23. Forward Outside	Paragraph Threes (Right For	ot or Left)		18	6	0							0.000		
24. Backward Outsid	le Paragraph Threes (Right F	oot or Left)		21	7	0							0.000		
25. Forward Outside	Paragraph Double Threes (F	Right Foot or Left)		24	8	0							0.00		
26. Basissani Ostaid															
Backward Outsid	le Paragraph Double Threes			27	9	0							0.00		
	Brackets (Right Foot or Left)			12	4	0							0.00		
	Brackets (Right Foot or Left)			12	4	0							0.00		
	Change Brackets (Right Foo	t or Left)		18	6	0							0.00		
30. Forward Inside C	Change Brackets (Right Foot	or Left)		18	6	0							0.00		
31. Forward Outside	Paragraph Brackets (Right F	oot or Left)		24	8	0							0.00		
32. Backward Outsid	le Paragraph Brackets (Right	Foot or Left)		27	9	0							0.00		
	e and Inside and Right and L			18	6	0							0.00		
	and Inside and Right and Le			21	7	0							0.00		
	Outside and Inside and Right			12	4	0							0.00		
	Outside and Inside and Righ			15	5	0							0.00		
	Loops Outside and Right an			18	6	0							0.00		
	ge Loops Outside and Right a			21	7	0							0.00		
39. Forward Paragra				24	8	0							0.00		
40. Backward Parag				27	9	0							0.00		
41. Threes to a Cent				12	4	0							0.00		
42. Waltz Eight				9	3	0							0.000		
TE. IVVAILE EIGHT			c	um choser		3.5							0.000		
Total Technical Ele	omonte		S	um cnoser	recinical:	3.5				Teta	l judges score	for olement-	93.550		
TOTAL TECHNICAL EN	ements		Factor	WPI	WPI incl a	~~				rota	i judges score	ioi elements	33.33		
					www.incia	,									
	ensation (18 x WPI)		18	39.40%		39.40%							7.092		
Deductions													0.00		
								7	Otal	Score f	or Perfo	rmance	100.64		
									Otai	OCOIC I	or r erro	IIIIaiice	100.04		

	Compuls	ory Element	S		Level:	4
Competition:		rld Championships 2023 (•	
Skater:	Vicki Smart	Sex:	Lady		١	TM
Age January 1st:	33	Age category:	Senior			-
Club:		Country:	England		INCLU	SIVE
Paralympic Class:	Visual	Facilitation:	Independent		SKAT	
Support needed:	None				JIMI	1110
	·		IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 4						
1. 4 Consecutive backy	ward outside edges (L and	d R on semi-circles).	0.5	0.167	2.9	0.484
	ward inside edges (L and		0.5	0.167	2.5	0.418
step (L and R). See diagram	ard crossover, inside Moha Technical handbook for d	letailed description and	0.5	0.167	1	0.167
4. Waltz three step seq detailed description	uence (L and R). See Te and diagram	chnical handbook for	0.5	0.167	2.1	0.351
Total Technical Elem	ents		Total judges so	ore for element	S	1.420
			Factor	WPI	WPI incl age	
Impairment Compens	sation (4 x WPI)		4	33.00%	33.00%	1.320
Deductions						0.00
		T	otal Scor	e for Perf	ormance	2.74

	Compulsor	y Elements	S		Level:	4
Competition:	Inclusive Skating World C	hampionships 2023 (F	Hybrid Virtual)		•	
Skater:	Sophie Ravenscroft	Sex:	Lady		١	TM
Age January 1st:	15	Age category:	Junior			
Club:		Country:	England		INCLU	SIVE
Paralympic Class:	Physical	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIMI	1110
	·		IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 4						
1. 4 Consecutive backwa	ard outside edges (L and R o	on semi-circles).	0.5	0.167	3.4	0.568
	ard inside edges (L and R on		0.5	0.167	2.3	0.384
	d crossover, inside Mohawk,					
diagram	echnical handbook for detail	•	0.5	0.167	2.7	0.451
4. Waltz three step sequ detailed description as	ence (L and R). See Technion of diagram	cal handbook for	0.5	0.167	2.8	0.468
Total Technical Eleme	nts		Total judges so	ore for elements		1.871
			Factor	WPI	WPI incl age	
Impairment Compensa	ation (4 x WPI)		4	17.00%	17.00%	0.680
Deductions	,			•	•	0.00
		T	otal Score	e for Perf	ormance	2.55

		Compulso	ry Element	S		Level:	4
Co	mpetition:	Inclusive Skating World C				•	
Ska	ater:	Emily Poulton-Smyth	Sex:	Lady		IC	TM
Ago	e January 1st:	19	Age category:	Senior			-
Clu	ıb:		Country:	England		INCLU	SIVE
Pai	ralympic Class:	Unified	Facilitation:	Independent		SKAT	ING
Su	pport needed:	Off-ice				JIMI	1110
				IJS Base	Technical	Grade of Execution	Mark awarded
Ele	ements						
Le	vel 4						
1.	4 Consecutive backwar	d outside edges (L and R	on semi-circles).	0.5	0.167	3.55	0.593
		d inside edges (L and R or		0.5	0.167	2.3	0.384
3.	step (L and R). See Ted diagram	crossover, inside Mohawk, chnical handbook for detail	led description and	0.5	0.167	2.6	0.434
	Waltz three step seque detailed description and	nce (L and R). See Techni d diagram	cal handbook for	0.5	0.167	2.9	0.484
То	tal Technical Elemen	ts		Total judges so	ore for elements		1.895
				Factor	WPI	WPI incl age	
lm	pairment Compensat	ion (4 x WPI)		4	5.00%	5.00%	0.200
De	ductions						0.00
		_	Т	otal Scor	e for Perf	ormance	2.10

	Compulso	ory Element	S		Level:	4
Competition:		Championships 2023 (H			•	
Skater:	Chynna Langford	Sex:	Lady		l (c	TM
Age January 1st:	26	Age category:	Senior			3
Club:		Country:	England		INCLU	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements		For Official Use Only				
Level 4						
1. 4 Consecutive bac	kward outside edges (L and F	R on semi-circles).	0.5	0.167	3.6	0.601
2. 4 Consecutive bac	kward inside edges (L and R	on semi-circles).	0.5	0.167	2	0.334
	ward crossover, inside Mohaw e Technical handbook for det	•				
diagram			0.5	0.167	2.8	0.468
4. Waltz three step so detailed description	equence (L and R). See Tech n and diagram	nical handbook for	0.5	0.167	2.75	0.459
Total Technical Ele	ments		Total judges so	ore for element	S	1.862
	·		Factor	WPI	WPI incl age	
Impairment Compe	nsation (4 x WPI)		4	5.00%	5.00%	0.200
Deductions						0.00
		Т	otal Scor	e for Perf	formance	2.06

	Compuls	ory Elements	5		Level:	3
Competition:		d Championships 2023 (F			•	
Skater:	Nevaeh Howland	Sex:	Lady			ТМ
Age January 1st:	11	Age category:	Novice			
Club:	Blackpool	Country:	England		INCLU	SIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIM	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Official Use Only			
Level 3						
1. 4 consecutive forward	4 consecutive forward outside edges (L + R, all edges on a semi circles) 0.5 0.167					0.651
	inside edges (L + R, all e		0.5	0.167	3.2	0.534
3. metre)	oot three-turn (L + R, edg		0.5	0.167	1.9	0.317
4. Forward inside open N extended)	Mohawk (L + R, edges for	1 metre with free leg	0.5	0.167	2.7	0.451
Total Technical Elemer	nts		Total judges sc	ore for elements	3	1.953
			Factor	WPI	WPI incl age	
Impairment Compensa	ation (3 x WPI)		3	20.00%	20.00%	0.600
Deductions	·					0.00
		T	otal Score	e for Perf	ormance	2.55

	Compul	sory Elements	S		Level:	3
Competition:	Inclusive Skating W	orld Championships 2023 (F	Hybrid Virtual)		•	
Skater:	My An Ho	Sex:	Lady		ع	TM
Age January 1st:	19	Age category:	Senior			\supset
Club:		Country:	Australia		INCLUS	SIVE
Paralympic Class:	Intellectual	Facilitation:	Facilitated		SKAT	
Support needed:	On-ice				Jitai	
			110.0		Grade of	Mark awarded
			IJS Base	Technical	Execution	
Elements			For Official Use Only			
Level 3						
1. 4 consecutive forward	d outside edges (L + R,	all edges on a semi circles)	0.5	0.167	2.4	0.401
		Il edges on a semi circles)	0.5	0.167	1.5	0.251
3. metre)	foot three-turn (L + R, e	· ·	0.5	0.167	0.8	0.134
4. Forward inside open lextended)	Mohawk (L + R, edges i	for 1 metre with free leg	0.5	0.167	0.8	0.134
T-4-1 T1	4-		IT-4-15-day-			0.000
Total Technical Eleme	nts		, , ,	ore for elements		0.920
			Factor	WPI	WPI incl age	
Impairment Compensa	ation (3 x WPI)		3	20.00%	20.00%	0.600
Deductions						0.00
	_	T	otal Scor	e for Perf	ormance	1.52

		Compulso	ry Elements	S		Level:	3
Co	mpetition:	Inclusive Skating World	Championships 2023 (F	lybrid Virtual)		•	
Sk	ater:	Tamara Ham	Sex:	Lady			ТМ
Ag	e January 1st:	37	Age category:	Senior			\supset
Clu	ıb:		Country:	England		INCLU	SIVE
Pa	ralympic Class:	Unified	Facilitation:	Independent		SKAT	ING
Su	pport needed:	None				Jitai	
				IJS Base	Technical	Grade of Execution	Mark awarded
FI	ements			.00 2000		I Use Only	
	vel 3				T OF OTHER	ii osc omy	
1.	4 consecutive forward o	outside edges (L + R, all e	edges on a semi circles)	0.5	0.167	4	0.668
2.	2. 4 consecutive forward inside edges (L + R, all edges on a semi-circles) 4 consecutive forward inside edges (L + R, all edges on a semi-circles)			0.5	0.167	4.1	0.685
3.	metre)	ot three-turn (L + R, edge		0.5	0.167	2.7	0.451
4.	Forward inside open Mo extended)	hawk (L + R, edges for 1	metre with free leg	0.5	0.167	3.1	0.518
То	tal Technical Element			Total iudges sc	ore for elements	-	2.322
				Factor	WPI	WPI incl age	
lm	pairment Compensati	ion (3 x WPI)		3	0.00%	0.00%	0.000
De	ductions	,					0.00
			T	otal Scor	e for Perf	ormance	2.32

		Compuls	sory Elements	S		Level:	3
Competition:		Inclusive Skating Wo	orld Championships 2023 (F	Hybrid Virtual)		•	
Skater:		Sophie Carter	Sex:	Lady			ТМ
Age January 1	st:	22	Age category:	Senior			\supset
Club:			Country:	England		INCLU	SIVE
Paralympic Cl	ass:	Unified	Facilitation:	Independent		SKAT	ING
Support neede	d:	None				Jimi	
				110.5		Grade of	Mark awarded
				IJS Base	Technical	Execution	
Elements				For Official Use Only			
Level 3							
1. 4 consecuti	ive forward o	outside edges (L + R,	all edges on a semi circles)	0.5	0.167	4.6	0.768
			ll edges on a semi circles)	0.5	0.167	4.5	0.752
3. metre)		,	dges on one foot for 1	0.5	0.167	3.9	0.651
4. Forward ins	ide open Mo	bhawk (L + R, edges f	or 1 metre with free leg	0.5	0.167	3.45	0.576
•				•	•		
Total Technic	cal Element	ts		Total judges so	ore for elements		2.747
		•		Factor	WPI	WPI incl age	
	mpairment Compensation (3 x WPI)				0.00%	0.00%	
Deductions							0.00
			T	otal Scor	e for Perf	ormance	2.75

		Compulso	ry Elements	S		Level:	2	
Co	ompetition:	Inclusive Skating World C				•		
Sk	cater:	Jaroslava Vohankova	Sex:	Lady		- C	TM	
Αç	ge January 1st:	38	Age category:	Senior				
CI	ub:		Country:	Czech		INCLU	SIVE	
Pa	ralympic Class:	Unified	Facilitation:	Independent		SKAT	ING	
Sι	ipport needed:	None				SIMI	IIIU	
				IJS Base	Technical	Grade of Execution	Mark awarded	
EI	ements				For Officia	al Use Only		
Le	evel 2							
	Skater skates forward u	ising stroking motion to a p	oint approximately					
1.								
		rd to backward two-foot turn.			0.167	2.8	0.468	
		d using stroking motion to a						
2.		the skating area where the	skater performs a					
	backward to forward tw			0.5	0.167	1.6	0.267	
з.		ard "using stroking motion"	to the end of the rink	0.5	0.167	0.0	0.404	
Ļ	where the skater perfor		1.5)	0.5				
4.	Forward one foot glide	for distance of 10 metres (I	and R).	0.5	0.167	3.6	0.601	
To	otal Technical Elemen	ts		Total judges sc	ore for elements		1,770	
				Factor	WPI	WPI incl age		
lm	pairment Compensat	ion (2,75 x WPI)		2.75	0.00%		0.000	
De	eductions	· ,				<u> </u>	0.00	
	Total Score for Performance							

		Compuls	ory Elements	S		Level:	2				
Competition: Inclusive Skating World Championships 2023 (Hybrid Virtual)											
Skater:		James Kibble	Sex:	Gentleman		ع ا	TM				
Age January 1st:		31	Age category:	Senior							
Club:			Country:	England		INCLU					
Paralympic Class:		Intellectual	Facilitation:	Facilitated		SKAT					
Su	pport needed:	On-ice				JIMI	ING				
				IJS Base	Technical	Grade of Execution	Mark awarded				
Ele	ements			For Official Use Only							
Level 2											
1.	Skater skates forward using stroking motion to a point approximately one-third the length of the skating area where the skater performs a										
	forward to backward two-foot turn.			0.5	0.167	2.5	0.418				
	Skater skates backward using stroking motion to a point approximately										
2.	two-thirds the length of the skating area where the skater performs a backward to forward two-foot turn.			0.5	0.167	2.3	0.384				
3.	The skater skates forward "using stroking motion" to the end of the rink where the skater performs a T-Stop.		0.5	0.167	2.7	0.451					
4.	Forward one foot glide for distance of 10 metres (L and R).			0.5	0.167	2	0.334				
То	tal Technical Element	s		Total judges score for elements		 S	1.587				
				Factor	WPI	WPI incl age					
	pairment Compensati	on (2,75 x WPI)		2.75	50.00%	50.00%	1.375 0.00				
De	Deductions										
Total Score for Performance											

Compulsory Elements Level:											
Competition:	•										
Skater:	Sophie Ellis	Sex:	Lady		ی	TM					
Age January 1st:	9	Age category:	Pre-Novice								
Club:	Liverpool	Country:	Australia		INCLUSIVE						
Paralympic Class:		Facilitation:			SKATING						
Support needed:					SIMI	ING					
	-				Grade of	Mark awarded					
			IJS Base	Technical	Execution						
Elements		For Official Use Only									
Level 1											
1. Forward march (10 metres)		0.4	0.133	1.8	0.239						
2. Backward march (10 me	tres)		0.4	0.133	1.6	0.213					
3. 1 foot forward snowplow stop (L or R)		0.4	0.133	1.2	0.160						
Total Technical Element	Total judges score for elements		3	0.612							
			Factor	WPI	WPI incl age						
Impairment Compensati	ion (1,4 x WPI)	1.4	5.00%	5.00%	0.070						
Deductions					0.00						
Total Score for Performance											